


Make-up Data for Mr. Freezetc "QUALITATIVE QUESTIONS"
tc ""
  Complete the question packet for Mr. Freeze using the made-up data provided. (As a result of the made-up data, some of your results may be a bit weird.) Show your work – completing the make-up packet is about the process used rather than the final values.

Tunnel Length: 60 m

Angle to bottom of train at point F: 32˚ (As measured from the end of the bridge.)

Angle to point X: 10˚

Angle to point A: -7˚

Time to fall from F to X: 2.0 seconds

Mr. Freeze data from the 3rd to last car in the train
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Make-up Data for the Rush Street Flyer

Complete the question packet for the Rush Street Flyer using the made-up data provided. (As a result of the made-up data, some of your results may be a bit weird.) Show your work – completing the make-up packet is about the process used rather than the final values.

Use the online video at http://www.slapt.org/resources/sixflags/ to get the period of rotation. 

Use the altitude graph to get the radius of the ride.

Make-up Data for the Highland Fling

Complete the question packet for the Highland Fling using the made-up data provided. (As a result of the made-up data, some of your results may be a bit weird.) Show your work – completing the make-up packet is about the process used rather than the final values.

Force Factor Readings:


Horizontal, full speed, FF = 2.5


Vertical, Maximum Value, FF = 3.5


Vertical, Minimum Value, FF = 1.5

Circumference of ride = 50 m

Period = 3.5 seconds

Make-up Data for Superman

Complete the question packet for Superman using the made-up data provided. (As a result of the made-up data, some of your results may be a bit weird.) Show your work – completing the make-up packet is about the process used rather than the final values.

Watch the online video at http://www.slapt.org/resources/sixflags/
Use the following description to complete your graphs:

        The car starts at bottom at rest. It then quickly accelerates to a medium constant upward speed. After leaving the braking fins the upward speed becomes faster then continues at a constant speed.  As the car approaches the top, it rapidly decelerates to a very slow constant upward speed.  The car then stops at the top and pauses for a while.  After a short time the car is dropped downward.  Brakes decelerate the car to a slow, constant, downward speed and stop the car at the bottom.

Assume Maximum height is 220 feet.

Assume the brake fins are 2/5 the height of the tower.

Time falling before braking: 2.7 seconds

Time to reach bottom after braking starts: 6 seconds
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